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Maths

Can you solve these addition and subtraction problems?

Odd One Out Spot the Mistake

Which is the odd one out?

Explain why.

.."‘....... { 589 — 70 is equal to 582 ]
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Answers

What should the answer be?

Q1. The pictures show:

200 + 700 =900

200 + 600 = 800

300 + 500 = 800

You could have two answers, the first one is the odd one out as the totals are both 800.
The last one is the odd one our because it uses 300 as the starting number and the
others use 200.

Q2.589-70=519

Amir subtracted 7 not 70

English

Today we are going to use BBC Bitesize to help us investigate adjectives

https://www.bbc.co.uk/bitesize/articles/zvv8d6f

Watch the videos and complete the online activities. There is a worksheet which you can
print if you are able to, if not you can choose 5 of the sentences and re-write them with a
different adjective.



https://www.bbc.co.uk/bitesize/articles/zvv8d6f

Answers
| hope you enjoyed watching the videos and completing your online work. As a grown
up to check it for you.

Foundations Subject — History — Anglo Saxons
Read the presentation about the Anglo Saxons and Scots.

Complete the sentences on the worksheet using the information you have just learnt.
If you are able to print the worksheet you can, if not you can write out the sentences.

We are going to learn more about Anglo Saxon’s over the next few weeks. You might also
want to do some research of your own on this topic!

Answers

1 - Romans

2 —Scots

3 — Kingdoms
4 — Vortigern
5 - Picts

6 — Britain

7 — Angles

8 - Saxons




